
Convergion Table

Metric & lmperial

Land
t heclare
1000 hectares

1000sq metres

250 hectares

rood
perdl
yard

lool

1 Pennydeight (dwt) =
16ounces (ozs) =
14lbs
28lbs
112lbs
2240lbs
20 cwts

guinea

shilling{s)
sovereign

2.471 acles
2471?f,tes
0.25 acres

617.75 acres

4 roods (rd)

0.25 acres (ac)

5.50 yards (yd)

3 Ieet (ft)

12 inches (ins)

1 rod/pole/perdr
1 rood

1000 sq metres

4000 sq metres

1 acre
1 chain (lengih)

80 chains

1 mile

100 miles

2.2lbs
I pint (pi)

I pinls

1 gallon

2 pints

32 qds

220gallons
l000galslank

5.50yds
40 sq perches (pch)

1 rood (approx.)

1 acre (approx.)

0.4047 heclaes
66fr
1 mib
1.60 km

160 km

1 kg (kilogram)

20 fluid ozs or 0.568

lihes
l gallon (gal)

l0lbs wateror4.55
litres

1 quarl (qrt)

l bushelor g gals

1000litres
4545litres

weight and Liquid Measure
= 28.3arams (sms)

1/20 ounce (oz) or 1 .4 gms
pound (lb)or.453592 kg

1 bushel (dry wt) = I gals or 36.,14 litles

1 bushel(wheat) = 84lbs

Cunency
pound sleding (t)= 20 shillings (201)

stone (si)
quarter (of crvt)

hundredweight (cwt)

lon

lon

= t1 1s

= 12 penniedpence (d)

= 20shillings

Notei conve6ion of impe ai currency to

metfic curency occurred in Ausfalia 14

February 1966....!sdio$c

At lhe time conve6ion took place $1

Australian equalled 10/'imperial($2 = e1)
the shilling sign(s)= Solidi(Latin) 1l or 1s

flepennysign(d)= Denarius(Latin) 1d

thepound sign originally 'L' = Librae (Latin)!


